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Zadatak 7. Za koje realne brojeve m postoji realan broj x tako da je cos x =
2m − 1
m + 2

?

Rješenje. cos x =
2m − 1
m + 2

=⇒
∣∣∣∣2m − 1

m + 2

∣∣∣∣ � 1

uvjet: m + 2 
= 0 , m 
= −2

|2m − 1|
|m + 2| � 1

/
· |m + 2|

|2m − 1| � |m + 2|
−∞ − 2 1/2 + ∞

I. II. III.
2m − 1 − − 0 +
m + 2 − 0 + +

I. m ∈ 〈−∞,−2〉
−(2m − 1) � −(m + 2)
−2m + 1 � −m − 2

−m � −3 / · (−1)
m � 3

=⇒ nema rješenja

II. m ∈
〈
−2,

1
2

〉
−(2m − 1) � m + 2

−2m + 1 � m + 2

−3m � 1 / : (−3)

m � −1
3

=⇒ m ∈
[
−1

3
,

1
2

〉
III. m ∈

[1
2
,∞
〉

2m − 1 � m + 2

m � 3

=⇒ m ∈
[1

2
, 3
]

unija rješenja I., II. i III. :

∀n ∈
[
−1

3
, 3
]
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